KENDRIYA VIDYALAYA NO-1 ARMAPUR, KANPUR
FIRST PRE-BOARD EXAM -2020-21
CLASS- X
SUBJECT- SOCIAL SCIENCE (087)

Time Allowed: 3 Hours Maximum Marks: 80

General Instructions :
i. Question paper comprises five Sections — A, B, C, D and E. There are 32 questions in the question
paper. All questions are compulsory.
iil. Section A - Question no. 1 to 16 are Objective Type Questions of 1 mark each.
iii. Section B - Question no. 17 to 22 are short answer type questions, carrying 3 marks each. Answer
to each question should not exceed 80 words.
iv. Section C - Question no. 23 to 26 are source based questions, carrying 4 marks each.
v. Section D - Question no. 27 to 31 are long answer type questions, carrying 5 marks each. Answer
to each question should not exceed 120 words.
vi. Section E - Question no. 32 is map based, carrying 5 marks with two parts, 32.1 from History (2
marks) and 32.2 from Geography (3 marks).
vii. There is no overall choice in the question paper. However, an internal choice has been provided
in few questions. Only one of the choices in such questions have to be attempted.
viil. In addition to this, separate instructions are given with each section and question, wherever

necessary.
SECTION -A (1x16=16)
Q.1. Which of the following country was not in the treaty of Vienna? 1
a) Britain b) Russia c) Prussia d) United states
o= forRae o & -7 <o farT ey b1 Hewy =7l o7 2
®) ot ) ) e &) amIRaT
Q.2. Germany was unified in .................. ? 1
a) 1870 b)1871 c) 1872 d) 1873
ST BT QIR ... o gaT o7 ?
@) 1870 E)1871 T) 1872 ) 1873
Q.3. Who announced a vague offer of “Domination statue for India in 19297 1
a) Lord Curzon b) Viceroy Irwin c¢) Lord William d) Lord Mountbatten

1929 H YRT P 1T “SHIfF= Teeq o7 M Ter” — AT VT fora fobam 2
FH) AL Pod @) S RfAT ) 1S fAferrT dfew ) TS ArSese

Q.4. Which pact was signed in 1931 through which Gandhiji decided to call off the Civil Disobedience movement? 1
a) Gandhiji- Curzon pact
b) Curzon- Nehru Pact
¢) Gandhi- Irwin pact
d) Gandhi- Mountbatten pact
1931 H HIF-H FHSAI R X gU & [T SIRY el STt 71 QA SHereil el ™ o T Ry foram o 2
P)TTER Sff- o T W)poi- Jee FESidT M) et Sff- k9T aeeitar &) TefY Sft- ArSeseT gasiar




Q.5. About............... percent of India’s total surface area is under mountains.

a) 30% b) 40% c) 50% d) 60%
R & G -8 B TTHT .o TIfT2TeT 91T OR Ui & 2
®)30% =)40% M)50% €)60

Q.6. Which of the following soils is also known as regur soil ?
a) Alluvial Soil b) Black soil ¢) Red soil d) laterite Soil
fFrfeTRad = 3 o 92T T YR HaT T HeT ST 8 2
P) TG TSl J) Pl FA M AAII  H) eIse gaT

Q.7. In which one of the following states is the terrace cultivation practised.

a) Punjab b) Haryana c¢) Plains of UP d)J &K
frAfetRad 7 & b I3 5 HISIER Py 0TS STl 87
®) 9o ) gRamT T) Y. & A ) S oI HeHR

Q.8. Which of the following is a basic or key industry?

a) Rubber industry  b) Textile Industry c) Iron and steel d) Sugar Industry
fFrAfTREd ¥ | PH-AT STERYT ST 8 ?
®) &S FENT ) T ST M)ATET AT ST ST CIEIRISSEINI

Q.9. Sri Lanka emerged as an independent country in ..................

a) 1946 b)1947 c)1948 d)194
NFBT o, 9 Uep Tqd IS 7 |
®)1946 9)1947 T)1948 ©)1949

a) People belonging to one language community- Dutch, French and German
b) All the Citizens

c¢) All the community leaders.

d) All the leaders.

®) 9, Hd MR SEH- T 1T T St dTel AT

Q) T RIS
) T FHERIT & AT
) e} AT
Q1. s includes subjects of national importance such as defence, foreign affairs, banking etc.
a) State list b) Union list c¢) concurrent list d) Residuary power

................... § yferer, el Arer, ST anfe Isdir e & fowg & 2
%) XIS ! Q) FE A M) FHAAGET ) JTehl g ek



Q.12. Who was the founder of Bahujan Samaj Party? 1
a) Kumari Mayawati b) Kanshi Ram ¢) Mahatma Gandhi phule d) Sahu Maharaj
TGS HHIST UICT BT HLATID DI AT 2

&) HRITE ) PIRIE M) HEHAT el ©) |1g HERIS

Q.13. Which of the following is not a component of HDI? 1

a) Per capita Income b) Life expectancy c) Literacy rate d) Poverty rate

frforRad & I PIF-A1 T, S, 31 BRI & 2
®) YT AT T ) ST Hedrer TARRA R o) RI&T &

Q.14. In India the mammoth task of measuring GDP in undertaken by a .............

a) State government b) Local government  c) Central Government d) None of the above
qRA H iS4 A9 ST HiST B ... ST {3 ST 87
®) I WPR F) W IRPR T) I WPR~ F) SR H J PIg T8l
Q.15. The economic activities an the basis of ownership of resources can be divided into.......... and ..........
a) Public, Private b) Government, Individual c¢) Primary, Secondary d) Secondary, Tertiary
ATEAT b TQTHCT & STER UR 315 TRl @........... <1 o qiffepet fopaT ST HepelT € |
®) AdSTHID, i @) ARDRI, it ) Urfe, fediae ) fadie, Jdiade
Q.16. What is SHG?
a) Self help groups b) Self Handicraft group c¢) Social help Groups d) Society help Group
T, S, W HRTE ?
) TR ) R Dbl g ) HHIND FERIT T &) FHIST HERICT T8
SECTION-B (3x6=18)
Q.17. Explain any four provisions of the Napoleon civil code 1804. 3

AR AR T, 1804 & fohal TR UTaeI T bl Sooidd ™ |
Or

What were the major proposals of the Vieenna Congress?

R e & & IR T & 2
Q.18. Why was the Non-Cooperation Movement withdrawn by Gandhiji? 3
TTeft ST Y SRTEANT STG et AToRT at o foraT 2
Q.19. How over irrigation and mining lead to land degradation? 3
31T eI CTIT TG b IRUT [ T FF=T1ep=ur foh_T HepIR 81T 82
Q.20. Why is there a need for resource planning? 3
HETE PRI &1 T 3TaeddhaT 87
Q.21. Mention any four characteristics of development. 3
g &Y IS TR fIATaTT v |
Q.22. What is the ethnic composition of Belgium? 3
TSR T ST Fae Bt 57




SECTION -C (4x4=16)

Q.23. Suggest some ways which can be helpful in creating employment rural areas. 4
P8 AR GV ST T &1 H ASHTR IS H HERID 8 |

Q.24. Why is the need to have political parties? 4
RS St dl 3TTaeTdhar oy 872

Q.25. Read the source given below and answer the questions : 4

Following the defeat of Napoleon in 1815, European governments were driven by a spirit of conservatism.
Conservatives believed that established, traditional institutions of state and society — like the monarchy, the Church,
social hierarchies, property and the family —should be preserved. Most conservatives, however, did not propose a
return to the society of pre-revolutionary days. Rather, they realised, from the changes initiated by Napoleon, that
modernisation could in fact strengthen traditional institutions like the monarchy. It could make state power more
effective and stronger. A modern army, an efficient bureaucracy, a dynamic economy, the abolition of feudalism and
serfdom could strengthen the autocratic monarchies of Europe. In 1815, representatives of the European powers who
had collectively defeated Napoleon, met at Vienna to draw up a settlement for Europe. The Congress was hosted by
the Austrian Chancellor Duke Metternich. The delegates drew up the Treaty of Vienna of 1815 with the object of
undoing most of the changes that had come about in Europe during the Napoleonic wars. The Bourbon dynasty,
which had been deposed during the French Revolution, was restored to power, and France lost the territories it had
annexed

under Napoleon. A series of states were set up on the boundaries of France to prevent French expansion in future.

25.1 Which of the following statements correctly describes about European conservative ideology?

A. Preservation of believes introduced by Napoleon

B. Preservation of two sects of Christianity

C. Preservation of socialist ideology in economic sphere
D. Preservation of traditionalist beliefs in state and society

25.2 Identify the purpose to convene the Vienna of Congress in 1815 from the following options?

A. To declare competition of German unification
B. To restore conservative regime in Europe

C. To declare war against France

D. To start the process of Italian Unification

25. 3. What did conservatives focus on at the Congress of Vienna? Select the appropriate option.
A. To re-establish peace and stability in Europe
B. To establish socialism in Europe

C. To introduce democracy in France
D. To set up a new Parliament in Austria

25.4 How did the Congress of Vienna ensure peace in Europe? Select the appropriate option.



A. With the restoration of Bourbon Dynasty

B. Austria was not given the control of Northern ltaly

C. Laying out a balance of power between all the great powers in Europe
D. By giving power to the German confederation

.25. 91 faU 0 AT B U IR T BT IR S:

1815 % TGIfeR 1 8R & 15, JRIVIT PRI Bl ofeariadr bl Ha=T I URT 13T TIT o1 RURTaTiad] 1 J1T o b
MO, 5% 3R AT bl GRIND GAISIISTTe], T, TS YT, [afl 3R GRAIR o aes-aRIrd fasar S
T | ETeTIeb, SATRIAR URGRIATIRA! 7 e spifdepd] fal & GHIS % aTqd! &1 Tele 8] X% | 9fce, Srgl 7aMerd GIRT g%
15y 0 GRecl1 & HEGRT 15T fab SITEfAhIepRT arecrd H RTSTOITE] Sl URRes G131l @bl Hoiqd PR Febcl & | I8 I i
91 1 3iferes FHTell SR FSIqd 1 Febell & | Vb STTgf~ep AT, Ve gpaTel IpRel, Teb fcreficr siefegael], \rcare 3k
ST 1 FHTH PR & JRIT DI FARPeT IISTIE] 7oiqd & Tl & | 9 94 H, RIG Qi @ Tiarierr 7 wrfes w9 |
TR 21 RIS 15T T, TaeT 5 JRIT o 1o10 Ueb FHeHIA vt o 1o7g et o | SRT b1 Horar1 SRS & FiTer $gP
He’fe 1 off | GiaTeT 7 wuiferrT &I @ IR R 5 §T STferpier GRac] @l ¥g PR P Favd I 9¢ 94 Bl a1 P
G1e I STBIS 1HT | T hifcr @ GIRTT ST 19T /1T T, il 1T ITorq T, 9T  q87eT 15T 7T ofT, 3iR Big & &) 4
T8 Pll BN forlT o @ 1T

TR P TEd| I H BIAI™d] faRTR bl 1ebe1 @ 1o10 Ik bl HIFT37] GR g R15] b TG b1 T off |

25.1 FAfReT 5 A I AT s TR Bigara! EReRT & a1 H Fel & 4 guf $HRar 8272

37 -1 TREIV AT GRT {6 I T3 foramr
. 318 g9 & ST AUSTAY T FRETT

q . 3nfefen & H FHTSIATG! fOaRERT &7 ARE0r
T . oY TR T H IRURTaTE! faeTay a1 GRer

25.2 FAfRed fdepedl A 1815 H BRI & 42T I el P Ieed Bl T&aT HR?

3T - P faATI S ThtaRur o mfeReaert d enor e & forg
-5 R H BT AR DT T8I PR & fofy

T . B & et g Pl BN R & fofy

< . ST UehTepRUT ST TfehaT YR R o fofy

25. 3. QRORTETTAT = faeT bl RIRT UR T €T chforcl febaT? Sugeh faieped bt 2 el

3T~ o form R  @rifer 3fR ReRar o ik J T1fid & & forg
g- S JRIY H FHISTIE AT B & fory

. B H Al Bl aREd 3 & forg

g . 3TRTAT § Uah 7S ™IS &Y FATIAT & forw

25.4 =T &1 I =T IR 4 LMifer By G D2 SuYh fdebey T 7 e

3T- o foFT| ST <ToTaeT Y FETelt o Ter
g . ITRCIT ITRY Sl T =0T &1 fom 1 o
. R F FHT HE Al & e Ak Ager Mo



T . S e @ 91fh SR

Q.26. Read the text given below and answer the following questions.

Manufacturing industries not only help in modernising agriculture, which forms the backbone of our economy, they
also reduce the heavy dependence of people on agricultural income by providing them jobs in secondary and tertiary
sectors. Industrial development is a precondition for eradication of unemployment and poverty from our country. This
was the main philosophy behind public sector industries and joint sector ventures in India. It was also aimed at
bringing down regional disparities by establishing industries in tribal and backward areas. Export of manufactured
goods expands trade and commerce, and brings in much needed foreign exchange. Countries that transform their raw
materials into a wide variety of finished goods of higher value are prosperous. India’s prosperity lies in increasing and
diversifying its manufacturing industries as quickly as possible. Agriculture and industry are not exclusive of each
other. They move hand in hand. For instance, the agro-industries in India have given a major boost to agriculture by

raising its productivity.

26.1. Manufacturing industries fall in and agriculture in

A. Primary, Secondary Sector
B. Secondary, Tertiary Sector
C. Primary, Tertiary Sector

D. Secondary, Primary Sector

26.2. Manufacturing provides job opportunities to reduce dependence on agriculture. Identify which sector the

following jobs belong to —

Jobs created or promoted by manufacturing
industries

Sector

a. Garment production

1.Primary

b. Research & Development

2.Tertiary

c. Banking

3.Secondary

d. Mining

4.Quaternary

Choose the correct option —
A. a-1, b-2, ¢-3, d-4
B. a-3, b-4, c-2, d-1
C.a-2,b-3,c1,d-2
D. a-4, b-1, c-4, d-3

26.3. Which of the following options does not help in modernising agriculture?

A. Manufacturing farm equipment
B. Providing unskilled labour force




C. Supplying fertilizers and pesticides
D. Producing tube well pumps and sprinklers

26.4. In order to attract foreign manufacturing firms, a country needs to develop —

A. Agrarian facilities

B. Cultivable lands

C. Media facilities

D. Infrastructure facilities

Q.26. S f&T 77 913 31 e 3R FrafarRaa s &1 SR <1

faf~=107 SEIIT 7 @dct P @ STYABIPRU 4 7eg e &, oIl 89R1 3iefegaeell 1 33 &, d 4 S fadige iR e &1 4
RIS U&T @%b PIY ST TR GIFTI 31 91 /AR @bl 7 @_cl & | 89 &9 I SRISFIRT 3R TRIsl Ser & forg Siferfie
feresT_T Ve Gef 91t & | 98 ke | Qrefif-iep &3 @ SEIFT| 3R g &7 @ Ferl & UIe Ge Sof o7 | $HPT e ST 3R
foee &l 4 SelrT wIfid - &1 STATICI3 Pl 8 R 1 1l 15 qegail @1 ~fd TR 3R qTforsd el faviR ehee]
&, 3R 95 3aege fdweft JaT e & | 5l <91 31U B AT Bl Fod Hod bl AR G| Pl e favgd 1afderar 5 qaerd &,
4 TYg & | IR ! TGl 319 fAfEfr SerrTl ol aenefiy g SR fAfderar o 3 fed & 1 Py 3R e Vb g8 & 3
el & | 9 812 5 81 o1 i1t & | TR B [Ty, MR H iy SEIFTI ¥ 391 SeUIaehel] IGTPR PIY Pl Uep 93T qGTa 13T &

26.1. fafemior e IR By

c

37 - ureifiep, ATeafie &

g - b, JaIgd &

- Trfies, ot &

T - e, Ui &

26.2. fAfFMTOT PiY 4R FRAT T P &R b foTT ISR & AR TET BHRAT 81 YT (b (FATeTRad iR fobey & bl & —

AR o AT faf=mfor e & e ]

3 a4 1.7merfoeh
9 QI 3IR faepr 2.JR®

7 dfbT 3.fecire
SIRCER 4 IIHTHD
el feeped - -

). 3-1,9-2,93,5-4
g) 3-3,9-4,9-2,T-1
T) Ha29-3 1,32
T) 3-4,9-1,9-4,5-3

26.3. FrAfoIRad fapedl 5 & @19 AT HiY & myfhiaur  #ag T2l et 87

37 . fafmior Y Iuepvor




. TP 5 T U PRAT
3 . IERDI 3R DHIcATDT Dl JAMYfT
T . TS U 3iR RyieherR T Icure

26.4. faelY fafemior waf & e B & foTu, T 29T T fIpRIT et Y SRR & -

& . Y Ffaam

9. P I

3 . HifeaT gfem

T FPRCIR g

SECTION -D ( 5x5=25)

Q.27.How did people belonging to different communities, regions or language groups develop a sense of collective
belonging in the nineteenth century India? Explain.
ST el & AR H AT ST, &F AT AT FHET I S[S AN A AT {ed WU A S Dl AT by e hi?
ST N | 5
OR

Explain the meaning and notion of ‘Swaraj’ as perceived by the plantation workers. How did they respond to the call of
‘the Non — Cooperation movement’? 5

ST 2f8ehT GIRT oI ERIST o 31ef 31K &R &hY ARAT Y| Iel 'SAGINT TSIt & TG T SfaTe hey fear?

Q.28. Describe the role of mass communication in India. 5

AR H SR bl YfHDT T GU |
OR

Describe the benefits of Roadways.
TSP TR P FIT AT & SRST IN |

Q.29. Suggest and explain any five ways to reform Political Parties in India. 5

TR § RISHcTe &l § GerR &b forv febelt it ey i Gy ofR T |

Q.30. ‘Power sharing is the essence of a democratic government.” Examine the statement. 5
" T T AT U AN eh ARDR BT TR & | B Pl Rig BN |

Q.31. ‘Tertiary sector is playing a significant role in the development of Indian Economy’. Justify the statement.

"I & TR SFefeaiaeT & faeprey 7 Hecaqut JfHrepT 71T R8T &1 9T T g DI | 5

OR
‘Public sector contributes to the economic development of India.” Justify the statement.

' IR & 3N BT H ATeiat+e & BT AREH & | 39 DY Rig HIT |




SECTION - E
MAP SKILL BASED QUESTION (2+3=5)

Q.32.
1)Two places A and B have been marked on the given outline map of India. Identify them and write their correct
names on the lines drawn near them 2

A. Indian National Congress session at this place in 1920
B. Mahatma Gandhi organized a Satyagraha Movement at this place for indigo planters

1) TR & U TT HURRIT A IR S T U 37 off T Rifgd frar T & 1 S+ ugam @ik S Uy St 18 XRarai o)
I e A fors

37 . 1920 H 3 T TR TR IE T HRRT &7 e
g . qgreqT Meft 7 S R HifoteT & foTT 39 TR IR IS STiaie BT RIS b

2) On the same outline map of India locate and label any THREE of the following with suitable Symbols. 3
IR & Uep &I BT A IR U Heltep! b aref fetRae 5 4 fopdT &7 &bt ol o 31 elaret &
a) Hirakund

b) Mayurbhanj

c¢) Bengaluru Software technology park

d) Naraura Nuclear power plant

e) Maramagao port

37) fexrgpor

) HIRHST

%) ST AR TEifiehl ardh

) TRIRT AT erfeh |

3) A §STE



